Ala ime in priimek:

Preizkus znanja iz 24.DN

Resite enacbo.
x—7|+[x+4/=15

predznak izraza x —7

predznak izraza x + 4

0<x+4=>-4<x

O x<4=-x+7-x-4=15=2x=12=x=—6

@ —4<x<7=>—x+7+x+4=15=2>11=15=2>x€Y
O)

7<x=>x-T+x+4=15=2x=18= x =9

xe{-6,9}



Igla, ime in priimek:
Preizkus znanja iz 24.DN 22.4.11

Resite enacbo.
x+8/+[x—2|=10

predznak izraza x + 8 0<x+8=>-8<x

- - - + + + + +
>0

predznak izraza x - 2

-12 -11 -10 -9 8 -7 -6 -5 -4 -3 -2 -1 0
O x<-8 @ -8<x<2

O x<-8=>-x-8-x+2=10=-2x=16=>x=-8_,«

@ -8<x<2=>x+8-x+2=10=10=10=>xe[-8,2),

O 2ix=2>x+8+x-2=10=22x=4=>x=2
xe[-8,2]




